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9.24 Snooker

Time: 30/40=55sec, 55/60=50sec
Opening: 3 or 4 Reds.
               All obstacles bi-directional. #5,#7 can be taken in any order.
Closing: All obstacles to be taken as shown. F
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9.24 Gambler
Opening:1-3-5-7 point system.
 (Hurdles=1point,Tunnels&Tire&Double jump=3point,Contacts=5point,Weaves=7point.) 

Sequence A-B-C from red line
                       = +10 extra point.

Opening time:30/40=45sec,55/60=40sec
Closing time :30/40=12sec,55/60=10sec

Closing Point:
 5 point=in line,
15 point=out of line
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